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What happen_s if you are given a shape and asked to find the scale

factor?
(( 3. Look at the figures on the graph. (
N r a8’
. Look at the points on each one:
4o
Original(“pre-image)” | Image Al 5 ¢
A Ve

How did you get from the originals 1o
the image?

B
sl el ST L, e
¢ .aa-aeutnauru_‘.e..mu;-mo‘-ua-snal

- That is the scale factor if it is the same
for each point.

4. What scale factor was used here? vy .
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Math 8 ' , ‘ Name:
(\( ‘LATIONS P "Qctice Date:
 [pree— AGa) 6(0d) 4D
] | la.. DilaTe. AABC b-& Sce-lc
1 2 “Fa.c:l‘_br A. |
: \\ .
BEIES 4135!':?‘;]:!@34 a7 6 S0
TS, "
i — lh.  Give new C,Dorﬂ-inﬂdfé for
E N e |'Ma%q_',
ji
(
vy _
: Ra. Dilate AABC by scqle
: ‘pﬁtc:l'b\/ ng .
Sﬁ :
s 1/ : N, )
E L -t\: i \3 a5 3
4—9—3«?55 _ﬁ \\x s?agmx
' 3 C . t .
e i | gb CP'V“C new ceordinates for
! :: . Mege
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A(=30) 8(3,3) C(&o) D(3~

3o, Dilate =AB b
*chdw K. ¢ Saafe

Now cosvelinates

3hb, :D”a'fﬂ mAE}CD bl& sale foctor 3

New coordin afes:

Given I MATH
M(-6,0) A(2,6)T(2-Y) f(-6,~4)

Ha. Dilate ~ABTH b% Scale ‘Pachov;'{

"/b New anyioh'rm,’i‘(;s:
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1Ne Tanie perow snoyvs e Loordinates. of. &trlangieiRST and the coormnates QT 1 -
'in triangle R'ST" “Triangle R'S'T ‘& dilatioh.bt figtgle RST, . - -« . .o S

Triangle Tl‘iangle
RST . . RISITJ

R| €23 | R} 6,9
S | (0,2 5
T | @-3) | T.

Part A

Answer S =

T = (
Part B Tt

On the grid below, draw triangle RST and triangle R'ST.
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Choose the correct answer.

1. Recténgle WX Y'Z' is the image of 3. Rectangle 4'B'C'D' is the image of
rectangle WXYZ after a dilation. The rectangle ABCD after a dilation. The
center of dilation is the origin. What is center of dilation js the otigin, What is
the scale factor of the dilation? the scale factor of the dilation? . ;
¥ Yy
10 i 13
9 {l
8 L4 X 8
7 7
& B A" B’
5 w Y’ 5
g X Z g ERa. o
ETE toFHD |
0 12345678810 0 1234586780910 2
1 1
A, 3 C. 2 A, 3 C. 2
3 2
* '2' D- 4 . ‘g Da 3
2. ‘Tiiangle NOP below will be dilated 4. ‘Triangle RST below will be dilated with the
with the origin as the center of dilation origin as the center of dilation and a scale
and a scale factor of 1 What will be the factor of 4. What will be the coordinates of
coordinates of the vertices of the dilated the vertices (?f the dilated image, AR'S'T"? ;
image, AN'O'P"? y :
12} %
y 1 |
g
1§ /4 - 2 i
; 4 : .
6 ibats
5 A g :
4 )4 1Y 5
3 0 12346678010112 ~
He 1
' y ! :
NN A R(4,12),5(12,12), T'(8, 4)
A. N'(4,4), 0'(8, 4), P'(16, 20) B. R'(4,12),5(9,9), T'(8, 1)
B. N(1,2), 0'Q2,2), P'(4, 10) C. R'(2,6),5(12,12), T'(4,2) ‘
C‘ N(I, 1)3 O (2: 1): P (4: 5) D. R'(l 5) S’( ) T’(l )
D. N'(1,1), 0'(1, 1), P'(3, 5) 4
®
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5. Quadrilateral //KL'M’ is the image of 6. Triangle ABC is dilated with a scale factor (

quadrilateral JKZM after a dilation, Point of 4 and the center of dilation is the origin.
Kis the center of dilation. What is the If the coordinates of the vertices df AABC
scale factor of the dilation? are A(4, 8), B(12, 8), and C(16, 20), what
are the coordinates of the vertices of the
X image after the dilation?
A. A'(16, 32), B'(48, 32), C' (64, 80)
! M B. A'(16,32), B'(48, 8), C'(48, 80)
FEEE 'm—;’“ \ >x C. A4'(8,12), B' (16, 12), C'(20, 24)
yEEERY D. 4(1,2),5(,2),C(4,5)
(EESEIRERRIAEE
) 1
A. 3 | C. 5
1
B.‘ 2 D. 3
7. ‘Triangle ABC has vertices A(1, 6), B(5, 4), and C(3, 1). Triangle ABC will be dilated by a scale (

factor of 3, with the center of dilation at the origin.

A. Find the coordinates of the vertices of the dilated image, A4'B’'C'. Show your work.

B. On the coordinate grid, graph AABC y
and its image, A4'B'C".
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Choose the correct answer.

Use the dia_gram for questions 1 and 2. Use the diagram for questidns 3 and 4.
Triangle RST is the result of a dilation of Triangle XYZ is the result of a dilation of
ANPQ with the center of dilation at the AJKL with the center of dilation at the origin
origin and a scale factor of % and a scale factor of 4,
y ' T y '
1o} 10t Y
1 11
10 10
9 gl \
8 8 X
7 7 :
( 4 —+1Q 6
. B AV e 5 "
4 // / 4 KTX >
3 STV 3T
2 T 21J
. 11-R¥ 1%L
' >X o > X
0 12345678 9101112 0 123456789101112 |
1. ich of the following must be true? 3. Which names a pair of corresponding,

congtuent angles?

Wh

A. £ Niscongruent to ZR. _

B. ZNiscongruentto ZS. A. ZLand £X C. ZKand £X

C. £Piscongruentto LR, B. ZLand Y D. ZKand LY

D. 4Piscongruentto £ 7.

4. Which is not true of the triangles in
thp diagram?

2,  Which proportion must be correct?
' A. AXYZis similar to AJKL because

NP _ PQ

A'. RS RT ' a c'lil‘ated image is similar to the
B. &P = PQ . original figure.
f}i f’g : B. The ratiO')]T—I}(, is equivalent to the
© f - g ’ ratio —%
P _
P RT RS C. mtj=msX

D. JL=XZ




he diagram for questions 5 and 6.

B

65°

5. Given that A4BC is similar to AXY7Z,

which is not true of these triangles?

A, m/Z = 65°
BC _ B4
B- —}/7 m
BC _ BA
C. YZ VX
BC _. AC
D. 7D

26°

A C X . Z

6. Triangle ABC'is similar to AXYZ because

two paits of corresponding angles are
congruent. Which of the following is not
true and does not help to prove this?

A. 'The sum of the measures of AABC is
180° so m/ B = 25°

B. m/B=msY=25°
C. msiC=msY=25°
D. m/iA=msrX= 90"_

7. Look at AH/K and ADEF,

proportional side lengths for these triangles.

=X
1234567 89101112

Y
- ) 3
A.  Explin how you could prove that AHJK is similar ﬁ A
to ADEF. 0 7\
g /; \\
8
7 J
: \
s 1A \
N
61°/ /61 80°
B.  List all the pairs of corresponding, congruent 2 hbl7rer F
angles. Then list all the ratios of corresponding, A Kl N
0
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Name - "Date

o Enrichment Worksheet 9-8

‘ - .
- .

Dilationand Area =~ ~ : ..
. ' L

A dilation of a shape creates = new shape that is o

similar to the original. The r-atio of the mewimage .-

to the original is called the sc ale factor. ' _’::» S

L]

Plot and draw each shape. When perfor“m the di,;é;fa;'; of each

shape using a scale factor o two. After the new image has

been drawn,. determine the a-rea of both the original shape '
‘tr? - ‘

- and lis dilation. :

. : Ay . 1.

1. A@ D (7,1 4,49 LU NEEA R
Area of original . ik
4
Area of dilation - 2

A

L L.

(O with radius (1, 2) to 4, 2)

Area of original — . ls
Area of dilation

8. 01¢8,2), (3,72, (4,°2), (&, 2) 4. 0(-3, ), (-3,-8),(3,-8),3,9)
Area of original Area of original - '

Area of dilation

Aréa of dilatiomt ——

5. What':general statement c.an be made about the areﬁ ofa
figure when compared to Mts area after being dilated by

(. scale factor 27 - . ' ' .

. 82
w=Clencoe Division, MacmillavMcGraw-Hill Nl



Name _ Date

 Similarity. ¢

Polygons are similar if they are the same shape, but not necessarily the same size. The
symbol to show that two polygons are similar is ~.

To check proportions, set up corresponding
F segments as a ratio:

A 6 B E 12
ﬁj ’ AB_6  BC_ 3 (D 5 AD_2
D5 ¢ 6 EF 12 FG 6 GH 10 EH 4

H 0 A If these ratios are equivalent, then the polygons

are proportional.

Same shape means the corresponding 6
angles are congruent. The lengths 12
of the corresponding sides are
proportional.

[ ST

Froy 8 16
AL B 8 a
4 4
pH——Tc = 8 Dy
g} Ratios of sides: @ Ratios of sides:
@ Are the polygons similar? 9) Are the polygons similar?
L3 - 0

86 Congruent and Similar Polygons Cg)



